Modification – Version 1

8.5.3.1 Transformation process

Inputs of this process are:

–
a variable nS specifying the sample size of scaled transform coefficients,

–
an array of scaled transform coefficients x with elements xi, with i=0..nS-1.

–
a transform type variable trType

Output of this process is an array of samples of the residual samples y with elements yi, with i = 0..nS-1.

Depending on trType, the following applies:

–
If nS is equal to 4 and trType is equal to 1, the following ordered steps apply:

1. A set of intermediate values c0, c1, c2 and c3 is calculated as follows:

c0 = x0 + x2

(8‑159)
c1 = x2 + x3

(8‑159)
c2 = x0 – x3

(8‑159)
c3 = 74 * x1

(8‑159)
2. The output values yi with i = 0..3 are then specified as follows:

y0 = 29*c0 + 55*c1 + c3

(8‑159)
y1 = 55*c2 – 29*c1 + c3

(8‑159)
y2 = 74*( x0 - x2 + x3 ) 

(8‑159)
y3 = 55*c0 + 29 * c2 – c3 

(8‑159)
Modification – Version 2
8.5.3.1 Transformation process

Inputs of this process are:

–
a variable nS specifying the sample size of scaled transform coefficients,

–
an array of scaled transform coefficients x with elements xi, with i=0..nS-1.

–
a transform type variable trType

Output of this process is an array of samples of the residual samples y with elements yi, with i = 0..nS-1.

Depending on trType, the following applies:

–
If nS is equal to 4 and trType is equal to 1, the following applies:

yi = ∑j( dij * xj ) with i=0..3, j=0..3

(8‑159)
3. 
where the transform coefficient matrix d is specified as:

4. 

d =
{
{29  55  74  84},

{74  74   0 -74},

{84 -29 -74  55},

{55 -84  74 -29},
}
